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300 x 300 | 300 | 275 | 320 | 35 30 45 55 | 300 | 40 |2000{100| — [500| 8 | 4 7 5 | 14 | 192
400 > 400 | 400 | 365 | 440 | 40 | 55 [ 55 | 60 | 400 | 50 (2000150 — [500| 8 | 4 | 9 | 5 | 16 | 314
400 x 500 | 400 | 360 | 440 | 45 | 60 | 60 | 65 | 500 | 60 |2,000(200| — |500| 8 | 4 | 11 | DG | 14 | 402
500 > 500 | 500 | 460 | 540 | 45 | 60 | 60 | 65 | 500 | 60 (2000|200 - |500| 8 | 4 | 11 | D6 | 14 | 420
600 > 600 | 600 | 550 | 640 | 50 | 65 | 65 | 70 | 600 | 60 |2000|200| — [500| 8 | 4 | 13 | D6 | 14 | 560
700 > 700 | 700 | 640 | 740 | 50 | 65 | 70 | 70 | 700 | 70 |2,000|150|350(500| 14 | 5 | 15 |D10| 14 | 682
800 > 800 | 800 [ 735 | 850 | 55 | 70 | 80 | 75 | 800 | 70 |2,000|200/400(500| 14 | 5 | 17 |D10| 14 | 878
900 =900 | 900 | 825 [ 970 | 55 | 70 | 90 | 75 | 900 | 80 |2,000|200(450(500| 14| 5 | 19 |D10| 14 | 1,070
1,000 < 1,000(1,000 | 920 |1,070 | 60 | 75 | 95 | 80 |1,000| 80 |2,000[250|500(500 (14| 5 | 21 [D10| 14 [1,274




